ZALACZNIK NR 12
Zestawienie danych do obliczen doboru weztéw cieplnych
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1 iuﬁfg‘:ﬁ;‘fﬁfg P}iﬁgtg\'x 230 | 93 83 6 | 20mH20 | Sbar | 17027 | Nsox4 | 350 | s0 | 45 | 857mm 150 kPa
) B“dy“eilngf::éfvnz Il’gM L-w 200 | 85 7 6 | 20mH20 | Sbar | 14807 | N50x3 | 350 | 45 | 45 | 801m¥m 150 kPa
3 B“dyne; “;ZZ})‘::?%@M L-W 240 | 115 108 6 | 20mH20 | Sbar [ 177,69 | Nsox4 | 350 | 50 | 50 | 938m¥m 150 kPa
4y g;fg;ﬁgggﬁ?“giiﬁ;sg s | 100 | 74 60 6 | 20mH20 | Sbar | 74,04 | N50x2 | 300 35 45 | 734 m¥h 150 kPa
5 | Budynek b‘“g’ St HME 08 | 40 Eg;;‘;‘ﬁz 3 23 1 | smH20 | Sbar | 5206 |Nsox2| 200 | 35 | 35 | 1,87m¥n 150 kPa
6 B“dy“eilnisﬁ‘f:gg f ZSM LW - |27 16 5 | 17mH20 - - - 200 - 35 | 3.82m¥%m 150 kPa
7 B“d{l‘;elgtra‘?:;iij‘ig gj_l\z/léL'w 109 | 63 50 6 | 20mH20 | Sbar | 807 [Nsox2| 250 | 35 | 40 | 672m¥m 150 kPa
8 B“"i‘;"éﬁj}ﬁiﬁz o L | e 50 6 | 20mH20 | Sbar | 807 [Nsox2| 250 | 35 | 40 | 6.72mem 150 kPa
9 B“d{l‘;elgtra‘?:;iij‘ig 565_1\348L'W 109 | 63 50 6 | 20mH20 | Sbar | 807 [Nsox2| 250 | 35 | 40 | 672m¥m 150 kPa
Budynki handlowe
10 ul. Staromiejska 34, 34A, 40 i ] D[ SmH0 ] Sbar ) 24D [NSOxD) - 20 ) i i
1| gy dgi‘;‘;y;fg;m;ﬁ:;:zha bsas | 250 | 70 66+25 5 17mH20 | Sbar | 167,17 | N50x4 | 300 | 50 40 | 8,11 m¥h 150 kPa
12 ulB uwdzssll;gisezgl;a;“L 484 | 190" 96+7 5 | 17mH20 | Sbar | 323,64 | NsOx7 | - 60 60 | 9,15m¥h 150 kPa
13 Budynek mieszkalny 180 | 142" 71 10 | 32mH20 | Sbar | 23321 | N50x5 | - 50 60 | 7.95m¥h 100 kPa
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